
 

 

 :  أحسة    1تمريه عذد 

A= 17+23+18+26+52+14 

B=350+1000+650+10000 

C= 1265+320+180+235 

D =77+15+16+23+85+34 

E= 1234+251+ 249+ 766 

 :     أحسة 2  تمريه عذد

A= (1235+120)- (235+120) 

B=(150-70)-(100-70) 

C=(185+2000)-(85+2000) 

D=(2575+25)-(375+25) 

 :     أتمم الفراغات 3تمريه عذد

15+……..+5=25 

50+(...-5)= 55 

…..-12=17 

40+……=58 

27-……..=13 

  :4تمريه عذد  

(…..+2000)-(5+2000)=10 

(25+1250)-(…..+1250)=15 

(75+1350)-(50+……)=25 

(60+……)-(20+2980)=40 

  الخضراء تاب صفر الثشير  25 : العىوان

 (ساتقا المىتصر حضاوة )تووس

 28849065  :  الهاتف
 

 

 

 

 


